C:h |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers

1) Y=X-7 2) Y=6xX-(X+6)
1.
2.
3
4,

3 Y=X-(8x-1) 4) Y=Xx9 :
6.
7.
8.

5 Y=3xX+4 6) Y=9xX+(X+7) o
10.

1) Y=3xX-(Xx4) 8) Y=5xXx8

9 Y=9xX+(X-2) 10) Y=6xXx(X+5)
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|dentifying Rate of Change (Equations)

Name:. Answer Key

| dentify therate of change. Answers
1) Y=X-7 2) Y=6xX-(X+6) 1
x [ v [roC X | v [roc -
-1 -8 |1 -1 -11 5 5 5
0 |-7 1 0 -6 5
1 |61 1 1 5 3 .
2 |-5 11 2 4 5 . 9
3 Y=X-(8%x-1) 4) Y=Xx9 : 3
X Y |ROC X1Y |[ROC
-1 |7 1 -11-9 |9 6 10
0 8 1 O |0 |9
1 o |1 1 ]9 o 7 1
2 10 |1 2 |18 |9 . 40
5 Y=3xX+4 6) Y=9xX+(X+7) . 10
X |Y |ROC X Y |ROC
-1 |1 |3 -1 -3 10 10. 18
o |4 |3 0 7 10
1 (7 |3 1 17 10
2 |10 |3 2 27 10
1) Y=3xX-(Xx4) 8) Y=5xXx8
X Y |ROC X 1Y |[ROC
-1 1 -1 -1 |-40 |40
0 0 -1 0O |0 40
1 -1 -1 1 (40 |40
2 -2 -1 2 1|80 |40
9 Y=9xX+(X-2) 10) Y=6xXx(X+5)
X Y |ROC X Y |ROC
-1 -12 10 -1 -24 36
0 -2 10 0 0 36
1 8 10 1 36 -18
2 18 10 2 84 18
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